MATH 234 " WORKSHEET 6 27 Frs 2016, TA: JIuyA WANG

Problem 1 : Implicit Function Derivative
For the following equations:
1. view z = z(z,y) from the equations, then use implicit function method to compute the

partial derivatives gz, gz
2. view y = y(z,2) from the equations, then use implicit function method to compute the
dy By,

partial derivatives 32, 2%;
2. at which points the partial derivatives g% are not defined? at which points the partial
derivatives Q% are not defined?
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Problem 2: Chain Rule Use chain rule to compute 3 ‘” and ‘?f (and aw):

L flz,y) = sin(z? +v%) ; z(u,v) = * —v% ylu,v) = 2uy;
2. flx,y) = 2%y; 2{u,v) = sinuw, y(u,v) = **

3. flz,y,2) = 22+ 92+ 2% z(u,v) = usinvcosw, y(u,v) = usinvsinw, z{u,v) =

U COS V;
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